=
* W $ Gang decimaler med 10.100.1000

Navn:__ Dato:_ Score:__
1,547 x 1000 = 4,566 x 1000 =
2,038 x 100 = 6,77 x 10 =
6,035 x 100 = 5,376 x 100 =
10,947 x 10 = 2,76 x 10 =
8,536 x 1000 = 3,965 x 1000 =
8,919 x 10 = 8,85 x 10 =
7,496 x 100 = 1,309 x 10 =
6,673 x 1000 = 2,069 x 10 =
5,126 x 10 = 1,688 x 1000 =
10, 741 x 100 = 6,502 x 1000 =
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i W § Gang decimaler med 10.100.1000

Navn: Dato: ___ Score:___
1,547 x 1000 = 1547 4,566 x 1000 = 4566
2,038 x 100 = 203.8 6,77 x 10 =67.7
6, 035 x 100 = 603.5 5,376 x 100 = 537.6
10,947 x 10 = 109.47 2,76 x 10 =27.6
8,536 x 1000 = 8536 3,965 x 1000 = 3965
8,919 x 10 = 89.19 8,85 x 10 = 88.5
7,496 x 100 = 749.6 1,309 x 10 = 13.09
6,673 x 1000 = 6673 2,069 x 10 = 20.69
5,126 x 10 =51.26 1, 688 x 1000 = 1688
10,741 x 100 = 1074.1 6, 502 x 1000 = 6502
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